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[k.M & ^v*  

Section ‘A’ 

nh?kZ mRrjh; iz'u 

Long Answer Questions. 
 

uksV % lHkh ç'uksa ds mRrj 800 ls 1000 'kCnksa esa fy[ksaA 

Note: Attempt all  Questions. Each question should be answered in 800 to 1000 Words.  

vf/kdre vad% 18 

Maximum Marks: 18 
 

1-  tM+Ro vk?kw.kZ rFkk ?kw.kZUk&f=T;k dh ifjHkk’kk,¡ nhft,A  

Define ‘Moment of inertia’ and ‘radius of gyration.  

2-  fdlh dksf”kdk esa nzo ds izokg dh nj fuEu lehdj.k }kjk nh tkrh gS % 𝑄 =
𝜋𝑃𝑟4  

8𝑛𝑙
 ] fpUgksa dk lkekU; 

vFkZ gSA mijksDr lehdj.k dks izkIr dhft,] rFkk mu ifjfLFkfr;ksa dks crkb;s ftuesa ;g ekU; gSA 

The rate of flow of liquid through a capillary is given by 𝑄 =
𝜋𝑃𝑟4  

8𝑛𝑙
 , symbols have their usual 

meaning. Deduce this relation stating the condition under which it holds.  

3- nks oLrq,¡ izR;sd dk nzO;eku 4.5 Kg gS] ,d gh lh/kh js[kk esa ,d&nwljs ds foijhr fn”kk esa xfr dj jgh 

gSA Vdjkus ds igys izR;sd dk osx 3.1 ms
-1

  gSA Vdjkus ds ckn ;fn nksuksa ,d&nwljs ls tqM+ tkrh gS rc 

mudk lfEefyr osx D;k gksxk\ 

The objects, each of mass 4.5 Kg, are moving in the same straight line but in opposite direction. the 

velocity of each object is 3.1 ms
-1

 before the collision during which they stick together, What will be 

the velocity of the combined object after collision? 

 
 

[k.M & c 

Section - B  

y?kq mRrjh; iz'u 

Short Answer Questions. 

 

uksV % lHkh ç'uksa ds mRrj 200 ls 300 'kCnksa esa fy[ksaA  

 Note: Attempt All Questions. Answer should be given in 200 to 300 Words. 

vf/kdre vad% 12 

Maximum Marks: 12 
 

4- HkkSfrd esa HkkSfrd jkf”k;k¡ D;k gksrh gSA D;k izfn”k ¼Vsalj½ ,d HkkSfrd jkf”k gSA 

What are the physical quantities in physics. Is Tensor is a physical quantity. 

5- ,d “kfu o’kZ ,d i`Foh&o’kZ dk 29-5 xquk gSA ;fn iF̀oh lw;Z ls 1.5 x 10
8
 km nwjh ij gS] rks “kfu lw;Z ls 

fdruh nwjh ij gS\ 

A Saturn year is 29.5 times the earth year. How far is the Saturn from the sun if the earth is 1.5x10
8
 

km away from the sun?  

6- “;kurk] “;kurk xq.kkad ,oa lhekUr osx dks ifjHkkf’kr dhft,A 

Define the terms viscosity, coefficient of viscosity and Terminal velocity. 

7- vfoukf”krk ds fl)kUrksa dks crkb,A jsf[kd laosd ,oa dks.kh; laosx dh vfoukf”krk dh O;k[;k dhft,A 

State the conservation laws. Explain the conservation of linear momentum and conservation of 

angular momentum. 
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[k.M & ^v* 

Section ‘A’ 

nh?kZ mRrjh; iz'u 

Long Answer Questions. 
 

uksV % lHkh ç'uksa ds mRrj 800 ls 1000 'kCnksa esa fy[ksaA 

Note: Attempt all  Questions. Each question should be answered in 800 to 1000 Words.  

 

vf/kdre vad% 18 

Maximum Marks: 18 
 

1-  vk;rkdkj ljy vkorZ xfr;k¡ D;k gS\ nks vk;rkdkj ljy vkorZ xfr;ksa] ftuds vkorZdky leku ijUrq 

vk;ke ,oa dkykUrj fHkUu&fHkUu gksa] ds la;kstu ls cuus okys fofHkUu oØksa ¼fylktwdh vkd`fr;ksa½ dks izkIr 

dhft,A  

What are rectangular simple harmonic motions? Find the various curves (Lissajous Figures) formed 

by combination of two rectangular simple harmonic motions of same time period but different 

amplitudes and phases. 

 

2- ukVZu ds izes; dks O;Dr dhft, rFkk mls fl) dhft,A tkyd fo”ys’k.k esa bldh mi;ksfxrk dks crkbZ;sA 

State and prove Nortonʹs theorem Mention its usefulness in network analysis. 

 

 

3- Fksofuu ds fl)kUr dks fyf[k,A 

State Theveninʹs theorem. 

 

 
 

[k.M & c 

Section - B  

y?kq mRrjh; iz'u 

Short Answer Questions. 

 

uksV % lHkh ç'uksa ds mRrj 200 ls 300 'kCnksa esa fy[ksaA  

 Note: Attempt All Questions. Answer should be given in 200 to 300 Words. 
 

vf/kdre vad% 12 

Maximum Marks: 12 
 

4- fdjpkWQ ds fu;e crkb;s rFkk mudk mi;ksx OghV&LVksu lsrq esa iz;qDr lehdj.k izkIr djus gsrq dhft,A 

State Kirchhoff ʹs laws and use them to obtain equation used in wheatstone bridge. 

 

5-  dyk osx ,oa lewg osx ds chp vUrj Li’V dhft,A buds chp lEcU/k O;qRiUu dhft,A n”kkZb;s fd vfo 

{ksi.kh; ek/;e esa lewg osx ,oa dyk osx cjkcj gksrs gSA 

Differentiate between the phase velocity and group velocity. Derive a relationship between them. 

Show that in a non-dispersive medium, the group velocity and the phase velocity are equal. 



 

6-  ljy vkorZ xfr esa fdlh d.k ds fy, foLFkkiu lehdj.k gS % 

                𝑥 = 0.01𝑠𝑖𝑛 100 π  𝑡 + 0.005  ¼eh-esa½ 
 tc fd ‘t’ le; ij d.k dk ‘𝑥’ foLFkkiu gSA x.kuk dhft,A 

i. vk;ke 

ii. vkorZdky 

iii. vf/kdre osx ,oa  

iv. izkjEHk dk foLFkkiu 

The displacement equation for a particle in simple harmonic motion is :                         

    𝑥 = 0.01 sin 100  π  𝑡 + 0.005  meter, 

Where ‘𝑥’ is  the displacement of a particle at instant ‘t’, calculate; 

i. Amplitude 

ii. Time period 

iii. Maximum velocity and 

iv. Displacement of the start. 

 

7-  vuqukn D;k gksrk gS\ vuqukn rh{k.krk dh O;k[;k dhft,A 

What is resonance? Explain the sharpness of resonance. 

 
 


